
 39.37
1000.0

 

 3.00
76.2

 
 8.34

211.9
 

 28.03
711.9

 

 3.38
85.7

 
 1.06

26.9
 

A

END USER ASSEMBLY

DETAIL A
SCALE 1 : 2

1/4-20 NYLOCK NUT

1/4" FLAT WASHER

COVER

COVER ATTACHMENT 
BRACKET

.63
15.9

ADJUSTMENT
B

DETAIL B
SCALE 1 : 2

ADJUST BRACKET TO MAX DEPTH
(AS SHOWN)

AND TIGHTEN NYLOCK NUTS

TILSC1HUS
2 COVERS INCLUDED WITH EACH KIT

D

C

B

AA

B

C

D

SIZE

B
87654321

1 2 3 4 5 6 7 8 TEC
H-001159

6436 CITY WEST PKWY
EDEN PRAIRIE MN, 55344
PHONE:  866-977-3901
FAX: 877-894-6918

SHEET 1 OF 5

THE INFORMATION AND DESIGNS CONTAINED IN 
THIS DRAWING ARE CONFIDENTIAL AND THE 
PROPRIETARY PROPERTY OF LEGRAND | AV. 
NEITHER THIS DESIGN NOR ANY INFORMATION 
CONTAINED IN THIS DRAWING MAY BE 
REPRODUCED OR DISCLOSED TO OTHERS 
WITHOUT THE EXPRESS WRITTEN CONSENT OF 
LEGRAND | AV.

DRAWN BY

CAD GENERATED DRAWING, 
DO NOT MANUALLY UPDATE. 

JAB 4/15/2021

ENG APPROVAL 

MFG APPROVAL 

QA APPROVAL 

SCALE

1:8 TECH-001159

STATUS:

JAB 06/07/2021 - RELEASED ON ECO: 500024203

00

DESCRIPTION

REV.DWG. NO.

MODEL NO.

TILSC05HUS & TILSC1HUS

TILSC05HUS AND TILSC1HUS 
TECH DRAWING



 19.69
500.0

 

 5.00
127.0

 
 3.00

76.2
 

 1.06
26.9

 

 3.38
85.7

 

C

END USER ASSEMBLY
WHEN USED WITH COVERS 
ON MULTIPLE ROWS OF LEDS

 .84
21.4

  12.00
304.8

 

WHEN USING COVERS WITH A SINGLE ROW 
OF 500 mm LED PANELS, UTILIZE BOTH ATTACHMENT BRACKETS

(AS SHOWN)

DETAIL C
SCALE 1 : 2

COVER

COVER ATTACHMENT 
BRACKET

1/4" FLAT WASHER

1/4-20 NYLOCK NUTD

DETAIL D
SCALE 1 : 2

ADJUST BRACKETS TO 
MAX DEPTH
(AS SHOWN)

AND TIGHTEN NYLOCK NUTS

TILSC05HUS
2 COVERS INCLUDED WITH EACH KIT

END USER ASSEMBLY
WHEN USED WITH A SINGLE ROW OF 500 mm

LED PANELS

WHEN USING COVERS WITH MULTIPLE ROWS OF LED PANELS, UTILIZE 
A SINGLE  ATTACHMENT BRACKET AT THE CENTER OF THE COVER

(AS SHOWN)
D

C

B

AA

B

C

D

SIZE

B
87654321

1 2 3 4 5 6 7 8 TEC
H-001159

6436 CITY WEST PKWY
EDEN PRAIRIE MN, 55344
PHONE:  866-977-3901
FAX: 877-894-6918

SHEET 2 OF 5

THE INFORMATION AND DESIGNS CONTAINED IN 
THIS DRAWING ARE CONFIDENTIAL AND THE 
PROPRIETARY PROPERTY OF LEGRAND | AV. 
NEITHER THIS DESIGN NOR ANY INFORMATION 
CONTAINED IN THIS DRAWING MAY BE 
REPRODUCED OR DISCLOSED TO OTHERS 
WITHOUT THE EXPRESS WRITTEN CONSENT OF 
LEGRAND | AV.

DRAWN BY

CAD GENERATED DRAWING, 
DO NOT MANUALLY UPDATE. 

JAB 4/15/2021

ENG APPROVAL 

MFG APPROVAL 

QA APPROVAL 

SCALE

1:8 TECH-001159

STATUS:

JAB 06/07/2021 - RELEASED ON ECO: 500024203

00

DESCRIPTION

REV.DWG. NO.

MODEL NO.

TILSC05HUS & TILSC1HUS

TILSC05HUS AND TILSC1HUS 
TECH DRAWING



E

DETAIL E
SCALE 1 : 4

LOOSELY INSTALL THE
1/4-20 PHILLIPS PAN HEAD SCREWS

SLIDE COVER DOWN FROM THE TOP
AND TIGHTEN SCREWS AT THE DESIRED HEIGHT

F

DETAIL F
SCALE 1 : 4

AFTER THE COVER IS INSTALLED
LOOSEN THE NYLOCK NUTS AND ADJUST

THE BRACKET TO THE DESIRED DEPTH
THEN RETIGHTEN THE NUTS

ADJUST COVERS TO THE EDGE OF THE LED PANELS

500 mm SINGLE ROW COVER ATTACHMENT
TILSC05HUS

SIDE COVERS

D

C

B

AA

B

C

D

SIZE

B
87654321

1 2 3 4 5 6 7 8 TEC
H-001159

6436 CITY WEST PKWY
EDEN PRAIRIE MN, 55344
PHONE:  866-977-3901
FAX: 877-894-6918

SHEET 3 OF 5

THE INFORMATION AND DESIGNS CONTAINED IN 
THIS DRAWING ARE CONFIDENTIAL AND THE 
PROPRIETARY PROPERTY OF LEGRAND | AV. 
NEITHER THIS DESIGN NOR ANY INFORMATION 
CONTAINED IN THIS DRAWING MAY BE 
REPRODUCED OR DISCLOSED TO OTHERS 
WITHOUT THE EXPRESS WRITTEN CONSENT OF 
LEGRAND | AV.

DRAWN BY

CAD GENERATED DRAWING, 
DO NOT MANUALLY UPDATE. 

JAB 4/15/2021

ENG APPROVAL 

MFG APPROVAL 

QA APPROVAL 

SCALE

1:8 TECH-001159

STATUS:

JAB 06/07/2021 - RELEASED ON ECO: 500024203

00

DESCRIPTION

REV.DWG. NO.

MODEL NO.

TILSC05HUS & TILSC1HUS

TILSC05HUS AND TILSC1HUS 
TECH DRAWING



TILSC05HUS

TILSC1HUS

G

DETAIL G
SCALE 1 : 2

ALIGNMENT 
BRACKET

FLAT HEAD
SCREWS

H

DETAIL H
SCALE 1 : 6

LOOSELY INSTALL
PHILLIPS PAN HEAD

SCREWS
SLIDE COVER DOWN FROM THE

TOP AND TIGHTEN THE PHILLIPS SCREWS
AT THE DESIRED HEIGHT

MULTI-ROW COVER ATTACHMENT

FOR LOWER COVERS, ATTACH 
UPPER ALIGNMENT

BRACKET 
(AS SHOWN)

D

C

B

AA

B

C

D

SIZE

B
87654321

1 2 3 4 5 6 7 8 TEC
H-001159

6436 CITY WEST PKWY
EDEN PRAIRIE MN, 55344
PHONE:  866-977-3901
FAX: 877-894-6918

SHEET 4 OF 5

THE INFORMATION AND DESIGNS CONTAINED IN 
THIS DRAWING ARE CONFIDENTIAL AND THE 
PROPRIETARY PROPERTY OF LEGRAND | AV. 
NEITHER THIS DESIGN NOR ANY INFORMATION 
CONTAINED IN THIS DRAWING MAY BE 
REPRODUCED OR DISCLOSED TO OTHERS 
WITHOUT THE EXPRESS WRITTEN CONSENT OF 
LEGRAND | AV.

DRAWN BY

CAD GENERATED DRAWING, 
DO NOT MANUALLY UPDATE. 

JAB 4/15/2021

ENG APPROVAL 

MFG APPROVAL 

QA APPROVAL 

SCALE

1:12 TECH-001159

STATUS:

JAB 06/07/2021 - RELEASED ON ECO: 500024203

00

DESCRIPTION

REV.DWG. NO.

MODEL NO.

TILSC05HUS & TILSC1HUS

TILSC05HUS AND TILSC1HUS 
TECH DRAWING



I

J

DETAIL I
SCALE 1 : 6

DETAIL J
SCALE 1 : 3

LOWER COVER INTO PLACE
AND ATTACH TO LOWER BRACKET

WITH FLAT HEAD SCREWS

K

DETAIL K
SCALE 1 : 4

LOOSEN NYLOCK NUTS
AND ADJUST DEPTH OF COVER

AS DESIRED

ADJUST SIDE COVERS
TO EDGE OF LED PANELS

D

C

B

AA

B

C

D

SIZE

B
87654321

1 2 3 4 5 6 7 8 TEC
H-001159

6436 CITY WEST PKWY
EDEN PRAIRIE MN, 55344
PHONE:  866-977-3901
FAX: 877-894-6918

SHEET 5 OF 5

THE INFORMATION AND DESIGNS CONTAINED IN 
THIS DRAWING ARE CONFIDENTIAL AND THE 
PROPRIETARY PROPERTY OF LEGRAND | AV. 
NEITHER THIS DESIGN NOR ANY INFORMATION 
CONTAINED IN THIS DRAWING MAY BE 
REPRODUCED OR DISCLOSED TO OTHERS 
WITHOUT THE EXPRESS WRITTEN CONSENT OF 
LEGRAND | AV.

DRAWN BY

CAD GENERATED DRAWING, 
DO NOT MANUALLY UPDATE. 

JAB 4/15/2021

ENG APPROVAL 

MFG APPROVAL 

QA APPROVAL 

SCALE

1:12 TECH-001159

STATUS:

JAB 06/07/2021 - RELEASED ON ECO: 500024203

00

DESCRIPTION

REV.DWG. NO.

MODEL NO.

TILSC05HUS & TILSC1HUS

TILSC05HUS AND TILSC1HUS 
TECH DRAWING


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 2)
	Drawing View22
	Detail View B (1 : 2)

	Sheet2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Detail View C (1 : 2)
	Drawing View24
	Detail View D (1 : 2)

	Sheet3
	Drawing View12
	Detail View E (1 : 4)
	Drawing View14
	Detail View F (1 : 4)
	Drawing View27

	Sheet4
	Drawing View16
	Drawing View18
	Detail View G (1 : 2)
	Drawing View20
	Detail View H (1 : 6)

	Sheet5
	Drawing View30
	Detail View I (1 : 6)
	Detail View J (1 : 3)
	Drawing View33
	Detail View K (1 : 4)
	Drawing View35


